Answers to ECN 520 TEST 1



1. 

a.        	  P = 25 - 0.001Q

	MR = 25 - 0.002Q = 0

	Q = 12,500

	P = 12.5

b.	( = TR - TC = 25Q - 0.001Q2 - [5,000 + 13Q + 0.002Q2]

	   = - 5,000 + 12Q - 0.003Q2

	M( = 12 - 0.006Q

c.	M( = 0 = Q = 2,000

	P = 23

	( = 46,000 - 39,000 = 7,000

d. 	Ep = (dQ/dP)*P/Q = - 1,000(23/2,000) = -11.5

e.	No effect. Doesn’t affect MC or MR.

	(‘ = -3,000



2a. 	Qb = F/(P - c)  =  50,000/0.40  =  125,000

b. 	P = 1.75 - 0.000005Q

	MR = 1.75 - 0.00001Q = .25

		Q = 150,000

		P = 1

c.	set Q = 140,000

	P = 1.05

d.	( = 1.5(300,000)/2  =  225,000



3a.	Q = 4,700

b.	Ep = ((Q / (P)*(P/Q)  =  -0.5(4,000/4,700) = -0.43

	Epo = 
(
(Q/
(Pi)
(Pc/Q)  =  0.2(6,000/4,700)  = 0.26

c.	Raise P



4a.	Set MR��I = MC

	8,333 - 0.667QJ =3,000 => QJ = 7996 
,
 PI = 5670

	Set 
MR
o 
 =  MC

	13,333 - 1.333Qo = 3000 => Qo = 7752 + Po =8162

b.	Set MR
I
 = 
MR
o
 
 =  8,333 - 0.667QJ
 = 13,333 -
 1.33
3Qo

	But Q
J + Qo = 10,000 => Qo = 10,000 - QJ


	8,333 - 0.667Q�I = 13,333 - 1.333(10,000 - QJ)

		2QI
 = 4167  	PI = 6945

		Qo = 5833	Po = 9442



5a.	Constant

b.	
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c.	AP = 
 
Q/L  =
  5K0.5/L0.5  =  20/L0.5

	MPL = (Q/(L  =  2.5K0.5/L0.5  =  10/L
0.5

d.	YES

e.	Need MRPL = PL

	P MPL = 10

	25(2.5)
4/L0.5 = 10  =>  L0.5
 = 25 

	
L = 625


f.	MRTS
LK 
 
= 
 
MPL/MPK  =  
(
(Q
/(L)/((Q/(
K)  

		     
 
=
  (2.5K0.5L-0.5)/
(
2.5
K-0.5L0.5)  =  K/L

		      =  8
�
 
EMBED 
Equation.2 
 
�
�
�






6a.
	
Decreases


b.	P  = MC/(1 + 1/EP)  =  20/(1 - 0.667)  =  60

c.	(Q
/Q  = 10%



